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Question 13:
Explain the statement that green revolution enabled the government to procure sufficient
food grains to build its stocks that could be used during times of shortage.
ANSWER:
Green Revolution led to an increase in the production of food grains. With the use of
modern technology, extensive use of fertilisers, pesticides and HYV seeds there was a
significant increase in the agricultural productivity and product per farm land. In addition,
the spread of marketing system, abolition of intermediaries and easy availability of credit

has enabled farmers with greater portion of marketable surplus. All these factors enabled
the government to procure sufficient food grains to build the buffer stock and to provide

cushion against the shocks of famines and shortages. gRd ifd & HRUT WGATe
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FNH o THR HI T Eleh Tallel HR 3l AR gleh & e & el HAuT
UGl sl & folt JaTed Wl ol TG Hlel H FETH ToA T

Question 14:

While subsidies encourage farmers to use new technology, they are a huge burden on
government finances. Discuss the usefulness of subsidies in the light of this fact.

ANSWER:

Subsidy means availing some important inputs to farmers at a concessional rate that is
much lower than its market rate. During 1960s, in order to adopt new technology HYV
seeds and use of modern fertilisers and insecticides, farmers were provided inputs at a
subsidised rate. Thus, the public sector role was needed to invest heavily, so as to raise



the income of people that will in turn raise the demand and so on. gfeqar AT E &
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AT 3H YR, HIdolisleh &7 T HfAH & A AAA e &1 3aegwmar &Y, arfes
ST T 3T deT & folT ST Scof # AT &l SGIUaT|

The following arguments are given in favour of subsidy:

1) Subsidy is very important for marginal land holders and poor farmers who cannot avail
the essential farm inputs at the ongoing market rate.

2) Subsidy in 1960s was basically an incentive for the farmers to adopt modern
techniques and vital inputs like fertilisers, HYV seeds, etc. The subsidy was mainly of
convincing and lucrative nature so that the farmers do not hesitate to use these modern
techniques.

3) Subsidy is generally provided to the poor farmers with the motive of reducing
inequality of income between rich and poor farmers and to promote an egalitarian
distribution of income.

4) It is argued that the adoption of new technology and techniques are not risk free and
only daring farmers are only willing to adopt them.
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The following arguments are given against subsidy.

1) It is generally argued that subsidy favours and benefits fertiliser industries than the
farmers. Subsidies provide a protective shield against the market conditions and,
consequently, these industries need not to bother about their market share and
competition.

2) Subsidies are also enjoyed by the potential farmers who do not need them. This often
leads to the misallocation and wastage of the scarce resources.

3) Subsidies, if provided at a much lower rate than the market rate may lead to the
wastage of resources. For example, subsidised electricity leads to the wastage of
energy.

4) There is a general consensus that in order to assess the benefit and feasibility of a
particular technique, subsidy should be provided but once the performance has been

judged subsidies should be stopped.

Hence, based on the above pros and cons, we can conclude that although subsidies are
very useful and necessary for poor farmers and to overcome uncertainties associated
with farming, it put an excessive burden on the scarce government finances. Thus, a
proper planning, suitable reforms and allocation of subsidies only to the needy farmers
IS required.
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